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Kel

Precalc 4.6A: Graphing tan & cot functions
Obj: To graph tangent and cotangent functions
Hwk:

e 46A#7 - 10,19, 20, 22, 23. Graph ONE full period. ID period,
scale & 5 key elements.

45 -46 Quiz weds 12/19
Do Now:
1. Get out your HW
e 4.6D: Graphing Secant & Cosecant WS
e I am collecting (Is your name on it?)
e Graphs of Tangent & Cotangent Functions WS
eWe need for today's lesson.
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Sketching Tangent & Cotangent Curves
y=atan(bx-c) y=acot(bx-c)

# Sketch one cycle (period) of the curve

o Period = T

b
# Identify 5 key elements per cycle:

o 2 asymptotes (at start & end of cycle)

o 1 center point (between asymptotes)

o 2 additional points midpoint between asymptote &
center point (+a)

#Start by defining asymptotes......
o By defining cycle - asymptotes occur at start & end:

-bx-cz-g and bx-c=gforTangenT

* bx-¢c=0 and bx-c= T for cotangent

Then, solve for x.
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Sketching Tangent Curves

Graph y = tan ;

.
I Per: &~ 2T

’ Amp: _noné

XCycle: (=17,7T)
Range: _(10200)
Vert. shift: non¢
Horizontal shift: _Aon¢

smzr' bx-C= —Ir Eno. bx-c IT

2 (%) f'—}’ 2 2
X= =T

Graph y = —-3tan2x

R i

% Per: 3 Res lect
Amp: none

VA
X~AX\S
sCycle: (4 )
Range: (-, 02)
Vert. shift: _pone
Horizontal shift: _nong

SMmer’ bx-¢ = -,20

5 Key Elements: Asymplotes! k= -7 X=7
ponts: (=% ,-1) (0,0), (1)

le: =
Stalc .‘)_1777‘..42~

)
SKey Elements: ASYmpTotes. X= X:VZ
Poins: (- 2 (0,0), (1’{-3)
ewd: bx-e=4 Seale: T _ 7.1
b i = = i
2 EA=(dl3 ¥
-z 7
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A DECre6sing

Sketching Cjofangenf curves | X 0ne egle (0,m)
How is a cotangent curve different from tangent?
X N
Graph y = 2cot
raphy = 2co [ 4J 1
I l -
% Per: Yy = HM Bl N
A 1 | T 4
Amp: _noné g4 7 37 41
¥ Cycle: | O’ﬂ‘ﬂ‘) -zl
Range: (- 2,@)

Vert. shift: none

Horizontal shift: nont  Key Elements: ASymomotes. X=0 , X=4M
¥smt! bx-€=0 bx-C=T Points. (TT,2),(27T,0),(37,-2)
=(0 =1
o) X=4qT

Graph f(x)=-3 cof(Zx)

-E Per: _JIL

Amp: _noné —
A Cycle: ﬂ,_n;)

Range: (=02 00)

Vert. shift: _non¢

Horizontal shift: none_ Key Elements: Agymptokes: X=0 , X=2r
Points (4‘,‘3),(-5",0),{3% 3)

¥ SRt bx-c=o bx-¢ =mn
2X<0 2X=T
X=0 x= I

saving journal files Page 5



Bwodesle
You fry....:: (X-5m)

Graph 9(x)=3fan(2x—n) QA=

2 b
]]t; Per: _2
Amp: _none
X Cycle: (0, Il ¢ -5
Range: (- 02, @)
Vert. shift: _none
' ift: ﬁ Right
Horizontal shift 19 Key Elements: ASymptoies: X=0, X= 1
¥ SteT! ewo: Poinis’ (3 -3),( F,0),(3F 3)
i b)("c 2 2
ol 2 salei’ %
JX'ﬂ:-ﬂ" QX“gcg
>~ a
aix=nmn
2X=0

X=0 "’JI
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